
Note: the best way to study for the tests is to:

-
Start by reading the lecture notes twice.

-
Then, leave the notes aside and answer the questions (I do not value answers that are transcriptions of the lecture notes). If you do this, you’ll have to study much less before for the tests.

Reserve some hours (perhaps 4) every week to answer the questions. 

The answers should be handed to me in the next lecture. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  9 in bold at the beginning of your answers.

Week 9 Unconventional MP – FG + QE
1.Explain the meaning of the following sentence: unconventional MP is to be used when CB’s interest rates have been lowered to zero and yet AD remains below FE. 
2. a) If future short-term rates were known, and the long-rate was higher than the average of the short rates, what would happen? Explain

b) If future short-term rates were known, and the long-rate was lower than the average of the short rates, what would happen? Explain

3.a) What is forward guidance? 
b) What’s its goal?
c)Explain the mechanisms through which forward guidance may reduce U and increase inflation.
b) Did the Fed’s forward guidance of Dec 2012 succeed? Explain.

4. a) How does a bank pays a B2=10€ it buys from the gov?

b) What will happen to that bank’s need of reserves if the gov makes a payment to a client of the same bank? Explain.

c) What will happen to that bank’s need of reserves if that client converts its CD into a SD? Explain.

d) What will happen to that bank’s need of reserves if instead that client uses the CD to make a payment in favour of another bank? Explain.

e) In conclusion, how does a bank fund a purchases of a 2-year bond?

5. Key question:

a) Which is the risk run by banks when they purchase B2? Explain.

b) What’s the consequence in terms of the return they require to buy them?

6 a) Why does the B2d curve have a positive slope?

b) Why is the B2s curve vertical at a certain moment in time?

c) What happens it at a certain moment B2s > B2d? Explain.

7. a) What is QE?

b) In which way does QE lead banks to sell their B2 to the CB? Key question.

8. Describe the first three rounds of the Fed’s QE, including the overall effect on banks’ reserves.
9. a) Why did those QEs allowed the gov not to pay interest on part of its debt?
b) May have those QEs led to any further reduction of interest payments by the US gorvenment?

10. Was the evolution of ten-year bond yields depicted in the graph below in line with the predicted effect of the purchase of B10=$600b by the Fed in 2011/1st sem? Explain.
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11. If the demand for credit to fund C and I was inelastic with respect to i2, what would happen to the amount of credit extended to households and businesses as a result of the QE? And to the money stock, AD and U? Explain.

12. Explain the mechanisms through which QE may reduce U.
13. a) Why may QE have just a tiny depressing effect on long-rates?

b) Why may QE be accompanied by a rise in long-term rates? 

14. Consider the evolution of France’s TB10 yield depicted in the following graph:
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Did ECB’s QE (Mar 2015-Dec2018) help AD to rise in France? Explain.
I uploaded an explanation of ‘Yield curve control’ that may help you answer the following questions:
15. a) What does a yield curve tell?

b)What’s the key difference between QE and yield curve control (ycc)?
16. a) In the uploaded explanation, why did p2 immediately rise to 200Y following the BoJ’s ycc? What was the effect on i2?
b) How did the more RA banks react? Explain.

c) How did the less RA banks react? Explain.

d) Which banks obtained capital gains? And which realized them? Explain.
US Macro policy in the covid-crisis

17. a) Why did US unemployment jump from 3.5% in Jan 2020 to 14% in June 2020?

b) Why could this have been followed by further rises in U?

c) Why was it instead followed by a sustained decline in U down to 4% by late 2021?

18. a) What could’ve been the effect of the steep rise in the US gov deficit on US TB rates? Explain.

b) What would’ve been the effect of that on U? Explain.

c) Why did the US TB rates remained near 1% throughout 2020 and 2021?
19. Where did the money to pay the $3,200 cheques and to near double U benefits ultimately come from?

20. a) Explain how the Fed determined the interest rate of the IBMM before the QE (ie, before the GR of 2008-9):

i) What did the Fed do when iIBMM started to fall below the Fed’s target?

ii) What did the Fed do when iIBMM started to rise above the Fed’s target?
21. a) How has the Fed determined the interest rate of the IBMM since QE?
b) Why the change?
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